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Algebra 2

Test Practice A day (Feb 3) B day (Feb 6)

1. Distribute each:
a) —3(2x+7)

~lox — 2\

2. Factor each:

a) 7Ta+14b

3. Distribute each:

a) (x+3)(x+2)

)(ni-‘;))("\'(o

4, Factor each:

a) x” +12x+36

Solve for x:

5. 2J'c—15=9
5

Test Next Time!
b) 4a(5a—1) ¢) —8(2x-5y+3)
=X ¥ 1-}03 -+

b) 15-3b ¢) —12w-18

3 (5-%)
b) (x+8)(x—-3)' c) (x—IO)(x-i-lO)

X =160
b) x> —19x—-20 ¢) ¥* =27x+50
(x-20)(x+Y)
) 12—2x=8 7. 10=7+lx
4 2

8.If f(x)=x+8,and h(x)=x*, find:

rE) = (X 8) = x*rox s GH



9. Simplify: (Bx—4x*)+ (-5x+12x%)
2
= 3X —HX— Hx* vV x | |
_ - ax + 8x*% O

10. How many radians are in: a) 60° b) 30° c) 45°
/e

11. Use the graph of f{x) to answer the questions below:

WA AT
B £(8)= ~1 Weck 1 4
| // \\
b) y-intercept: ( , ) !
/ \
= 4 7
¢) x-intercepts: (1 ,(Q )and ( 7.0) T 7( o % s
y b
d) For f(x)=S5, find two x-values: °] \ i
| I VL
Note: this means “find x when y = 5” ’7 \
-1; \ £i8)
x= x=
| I \
e) Domain of f(x): @\ I \

f) Range of f(x):

g) Equation:




Algebra 2
Test Review
Factor each completely.

12) X%+ 17x+72

14) 7%~ 35136

16) #° + 8n—20

18) p>—p-20

20) p—p—90

-

Name

Date Period

13) p°-3p—54

(p+6)(p-9)

15} m% - 13m + 42

(m- Q_(m -7)

1D B+ K

< (Oex)

19) x*>~2x—63

(x+D(%-9)

21) 6n° — 60n+ 126

(a(nw"l)(h-%)



24) 3t +5n+2

26) -8

28) a° +1

Factor each and find all roots.

30) 22 +2x—-15=0

32) ¥ —5x+4=0

25) 3¢ +a—2

(?xx- 'Db(QArD

A7) x° + 64
(XY + (A
o+ (= M+ V)

29) 64 +a°

(Y & (Y
(4 rad)(\o — ot C“‘z)

3 2 +3x-10=0
(x ) (x-2)= 0O

X=-2,22

33) x*~2x-15=0
(%~-B(X+3)=0
X =5,-3



34) x> —2x-3=0

Find the exact value of each trigonometric fanction.

}
COs

38) tan -
6

40) cos T
4

42) sin 60°

X==-3,3
'_’s’i)secE = .\_}_:%.
\ {
st _ A _N=
R =
-
-\ V&
% a3
4N csc— g = — T T —
N 3
\
43) n270° = ~ 7§ = uﬂdeﬁ







